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QUESTION 1

A router receives an OSPF database description packet from a neighbor that references an LSA, which is already in the
router\\'s LSDB. The sequence number in the DBD packet is lower than the sequence number of the LSA in the LSDB. 

What action does the router take? 

A. The router sends a link-state update to its neighbor. 

B. The router sends a link-state acknowledgement to its neighbor. 

C. The router updates the information in its LSDB with the information received from its neighbor. 

D. The router sends a link-state request to its neighbor. 

E. The router takes no action. 

Correct Answer: A 

 

QUESTION 2

Which of the LSA types stay within an OSPF area and are not exported outside of the area? (Choose all that apply) 

A. Router LSA 

B. Network LSA 

C. Summary Network LSA 

D. Summary Router LSA 

Correct Answer: AB 

 

QUESTION 3

The following are statements about fields in the Hello packet that must match in order to form an OSPF adjacency.
Which statement is correct? 

A. The area ID does not have to match. 

B. The value of the E bit in the options field does not have to match. 

C. The value of the Hello interval does not have to match. 

D. The value of the network mask does not have to match. 

E. The area ID, the E bit value, the Hello interval and network mask must all match. 

Correct Answer: E 
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QUESTION 4

Which of the following best describes an OSPF Type 3 LSA? 

A. A Type 3 LSA is generated by an ASBR only when route summarization is configured. 

B. A Type 3 LSA is generated by an ABR only when route summarization is configured. 

C. A Type 3 LSA is generated by an ASBR to describe routes to routers outside the area. 

D. A Type 3 LSA is generated by an ABR to describe routes to routers outside the area. 

Correct Answer: D 

 

QUESTION 5

Which of the following MUST be identical for a service between two PEs? 

A. Customer ID 

B. SDP ID 

C. Service ID 

D. VC ID 

Correct Answer: D 

 

QUESTION 6

Which of the following OSPF area types are supported by the Alcatel- Lucent 7750 SR? Choose two answers. 

A. Not so stubby areas 

B. Level1 area WC 

C. Stub areas 

D. Partially stubby areas 

E. Level 2 areas 

Correct Answer: AC 

 

QUESTION 7

Click on the exhibit. 
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A static route has been configured on router R1 to reach the PC at 139.120.121.2. What might be causing the ping to
fail? 

A. Router R2 needs a static route to the PC. 

B. Router R2 needs a default to router R1. 

C. Router R1 needs a default route to router R2. 

D. The static route should use a next-hop of 172.31.1.2 

Correct Answer: D 

 

QUESTION 8

What happens by default on an Alcatel-Lucent 7750 SR when a null encapsulated SAP receives a frame with a VLAN
tag? 

A. The original VLAN tag is removed. 

B. The original VLAN tag is kept. 

C. The VLAN tag is replaced by a provider tag. 

D. The VLAN tag is kept and a provider tag is added. 
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Correct Answer: B 

 

QUESTION 9

Which utility on the Alcatel-Lucent 7750 SR can be used to investigate an MPLS path? 

A. Isp-trace 

B. Idp-trace 

C. Sdp-ping 

D. Svc-ping 

E. Ping 

Correct Answer: A 

 

QUESTION 10

When configuring an IES spoke termination to a VPLS, what must be explicitly configured in order for the service to
come up? (Choose 2) 

A. MTU must match on both services, 

B. Mesh-SDP with matching vc-id configured, 

C. Spoke-SDP with matching vc-id configured. 

D. Spoke-SDP. 

Correct Answer: AC 

 

QUESTION 11

Which of the following commands is used to disable an Epipe service? 

A. config>service# epipe service-id shutdown 

B. config>service# vpws service-id shutdown 

C. config>service# service-id shutdown 

D. config>port# port-id shutdown. 

E. config>service# epipe service-id disable 

Correct Answer: A 
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QUESTION 12

Which is the OSPFv3 equivalent to the OSPFv2 Type 7 LSA? 

A. Intra-Area Prefix LSA 

B. Router LSA 

C. AS External LSA 

D. NSSA LSA 

Correct Answer: D 

 

QUESTION 13

Two IS-IS routers are exchanging Hello packets with different authentication types. Which of the following is TRUE? 

A. Different authentication types are not possible because IS-IS only supports password authentication. 

B. An adjacency will not be formed. 

C. The two routers negotiate the authentication type and then reach the up state. 

D. Only an L2 adjacency will form, as long as both routers are L2 capable. 

Correct Answer: B 

 

QUESTION 14

Service tunnels and transport tunnels are bidirectional and only require the operator to configure the tunnel on one
router. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 15

Which command provides a summary status of the VPLS service 100? 

A. show service id 100 base 

B. show service vpls 100 

C. show service vpls 100 summary 

D. show service vpls 100 all 
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E. None of the above. 

Correct Answer: A 
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